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IÊS> H$ 

17 1 17  17×1=17 

1. H$m¡Z-gm nÎmZ, EW|g Ho$ ~mø nÎmZ Ho$ ê$n _| H$m ©̀ H$aVm h¡ ? 

(a) {naoBAg   (b) Zm°W© Ho$n  

(c) b§XZ    (d) h¡å~J© 

2. {ZåZ{b{IV _| go H$m¡Z-gm H$maH$ àdmg Ho$ {bE à{VH$f© H$maH$ h¡ ? 

(a) ~ohVa amoµOJma 

(b) ~ohVa ahZ-ghZ H$s XemE± 

(c) em§{V Ed§ ñWm{`Ëd 

(d) àmH¥${VH$ AmnXmE±  

3. {ZåZ{b{IV _| go H$m¡Z-gm A§Vam©ï´>r` ì`mnma H$m AmYma  h¡ ?  

(a) amḯ>r` g§gmYZm| _| {^ÞVm 

(b) OZg§»`m 

(c) Am{W©H$ {dH$mg H$s àmdñWm 

(d) Xoe H$s Obdm`w 
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General Instructions :

Read the following instructions carefully and follow them : 

(i) This questions paper contains 30 questions. All questions are compulsory. 

(ii) This question paper is divided into five sections  Sections  A, B, C, D and E. 

(iii) Section A  Questions no. 1 to 17 are multiple choice (MCQ) type questions.  

(iv) Section B  Questions no. 18 and 19 are source based questions.  

(v) Section C  Questions no. 20 to 23 are Short Answer (SA) type questions. 
Answer to these questions shall be written in 80 to 100 words.  

(vi) Section D  Questions no. 24 to 28 are Long Answer (LA) type questions. 
Answer to these questions shall be written in 120 to 150 words.  

(vii) Section E  Questions no. 29 and 30 are Map based questions.   

SECTION A 

There are 17 Multiple Choice Questions in this section (Q. No. 1  17).  
All questions are compulsory.  17×1=17 

1. Which port acts as outport of Athens ?  

(a) Piraeus (b) North Cape 

(c) London (d) Hamburg  

2. Which among the following factors is a push to compel migration ? 

(a) Better jobs 

(b) Better living conditions 

(c) Peace and stability 

(d) Natural disasters  

3. Which one of the following is not a base of international trade ? 

(a) Difference in national resources 

(b) Population 

(c) Stage of economic development 

(d) Climate of a country 
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4. {ZåZ{b{IV _| go H$m¡Z-gr OZgm§p»`H$s` g§H«$_U {gÕm§V H$s {deofVm h¡ ? 
(a) BgH$m Cn`moJ {H$gr ^r joÌ H$s ^mdr OZg§»`m H$m nydm©Zw_mZ H$aZo Ho$ {bE {H$`m 

OmVm h¡ &  
(b) {H$gr Xoe H$s ^mdr OZg§»`m H$mo H$_ H$aZo Ho$ {bE BgH$m Cn`moJ {H$`m OmVm h¡ & 
(c) {H$gr joÌ H$s àOZZerbVm H$mo g_m`mo{OV H$aZo Ho$ {bE BgH$m Cn`moJ {H$`m OmVm 

h¡ & 
(d) BgH$m Cn`moJ OZg§»`m g§KQ>Z Ho$ {bE {H$`m OmVm h¡ & 

5. _w§~B© nmoVml` H$s {ZåZ{b{IV _| go H$m¡Z-gr EH$ {deofVm h¡ ? 
(a) `h OwAmar ZX_wI Ho$ _whmZo na pñWV h¡ & 
(b) `h ñWbm~Õ nmoVml` h¡ & 
(c) `h EH$ H¥${Ì_ nmoVml` h¡ & 
(d) `h EH$ àmH¥${VH$ nmoVml` h¡ & 

6. {ZåZ{b{IV _| go H$m¡Z-gm gw_o{bV h¡ ? 

    

(a)   ~¡bmS>rbm 
(b)    
(c) H$Zm©Q>H$   ~o  
(d) _hmamï>́   _ ỳa §̂O 

7. {ZåZ{b{IV _| go Odmhabmb Zohê$ nÎmZ H$s _w»` {deofVm H$m¡Z-gr h¡ ? 
(a) ^maV H$m {dembV_ H§$Q>oZa nÎmZ & 
(b) H$m|H$U aobdo Zo BgHo$ n¥ð> àXoe H$m {dñVma {H$`m h¡ & 
(c) bm¡h A`ñH$ H$m {Z`m©V H$aVm h¡ & 
(d) H$Zm©Q>H$ Bg nÎmZ H$m à_wI n¥ð> àXoe h¡ &  

8. ^maV Ho$ _w»` Vm±~m {Zjonm| H$mo nyd© go npíM_ Ho$ ghr H«$_ _| nhMm{ZE &  
(a) qgh ŷ_, ~mbmKmQ>, PwÝPwZy, Abda  
(b) Abda, PwÝPwZy, ~mbmKmQ>, qgh^y_ 
(c) qgh ŷ_, ~mbmKmQ>, Abda, PwÝPwZy 
(d) ~mbmKmQ>, Abda, qgh ŷ_, PwÝPwZy  

9. {ZåZ{b{IV _| go H$m¡Z-gr, ^maV _| J«m_rU ~pñV`m| H$s EH$ {deofVm h¡ ? 
(a) bmoJ H$_ J{Verb hmoVo h¢ & 
(b) OrdZ H$m T>§J O{Q>b hmoVm h¡ & 
(c) gm_m{OH$ gå~ÝY Am¡nMm[aH$ hmoVo h¢ & 
(d)  
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4. Which of the following feature is associated with the Demographic 
Transition Theory ? 
(a) It is used to predict the future population of any area. 
(b) It is used to bring down the future population of a country. 
(c) It is used to adjust the fertility of any area. 
(d) It is used for population composition.  

5. Which one of the following is the feature of Mumbai harbour ? 
(a) It is situated at the entrance of the Zuari estuary. 
(b) It is a land-locked harbour. 
(c) It is an artificial harbour. 
(d) It is a natural harbour.  

6. Which of the following is correctly matched ? 
 Name of the State  Iron-ore Mining Centres 
(a) Odisha  Bailadila 
(b) Chhattisgarh  Badampahar 
(c) Karnataka  Bellary 
(d) Maharashtra  Mayurbhanj  

7. Which one of the following is the main feature of Jawaharlal Nehru Port ? 
(a) It is the largest container port of India. 
(b) Konkan railway extended its hinterland.  
(c) It exports iron-ore.  
(d) Karnataka is the major hinterland to this port.  

8. Identify the correct order of location from east to west for major copper 
deposits of India.  
(a) Singhbhum, Balaghat, Jhunjhunu, Alwar 
(b) Alwar, Jhunjhunu, Balaghat, Singhbhum 
(c) Singhbhum, Balaghat, Alwar, Jhunjhunu 
(d) Balaghat, Alwar, Singhbhum, Jhunjhunu 

9. Which of the following is the feature of Rural settlements in India ?  
(a) People are less mobile.  
(b) Way of life is complex. 
(c) Social relations are formal. 
(d) Generally larger in size. 
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10. ^maV Ho$ IZZ ZJam| Ho$ ghr {dH$ën H$m M`Z H$s{OE & 

(a) [aÛma, dmamUgr  

(b) amZrJ§O, P[a`m, qgJam¡br 

(c) à`mJamO (Bbmhm~mX), Aå~mbm, A_¥Vga 

(d) _oaR>, ~~rZm, H$mZnwa  

11. H$mH$amnmam Zm{^H$s` D$Om© n[a`moOZm {ZåZ{b{IV amÁ`m| _| go {H$g_| pñWV h¡ ? 

(a) _hmamḯ> (b) JwOamV 

(c) H$Zm©Q>H$ (d) V{_bZmSw> 

12. {ZåZ{b{IV H$WZm| na {dMma H$s{OE VWm g~go Cn ẁº$ {dH$ën H$m M`Z H$s{OE : 

I : A§Vam©ï´>r` ì`mnma {d{^Þ amï´>m| Ho$ ~rM amï>́r` gr_mAm| Ho$ Ama-nma dñVwAm| Am¡a 
godmAm| H$m AmXmZ-àXmZ h¡ &  

II : amḯ>m| H$mo ì`mnma H$aZo H$s Amdí`H$Vm CZ dñVwAm| H$mo àmßV H$aZo Ho$ {bE hmoVr 
h¡ {OÝh| do ñd §̀ CËnm{XV Zht H$aVo h¢ & 

{dH$ën :   

(a) Ho$db H$WZ I ghr h¡ & 

(b) Ho$db H$WZ II ghr h¡ & 

(c) XmoZm| H$WZ I VWm II µJbV h¢ & 

(d) XmoZm| H$WZ ghr h¢ VWm H$WZ II, H$WZ I H$m ghr H$maU àñVwV H$aVm h¡ & 

13. {ZåZ{b{IV H$WZm| H$m AÜ``Z H$s{OE Am¡a g~go Cn ẁº$ {dH$ën H$m M`Z H$s{OE :   

  : CnOmD$ Xmo_Q> {_Å>r dmbo àXoem| _| A{YH$ bmoJ {Zdmg H$aVo h¢ &   
  : ò _¥XmE± JhZ H¥${f H$m AmYma h¢ & 

 {dH$ën :    

(a) Ho$db A{^H$WZ ghr h¡ & 

(b) Ho$db H$maU ghr h¡ & 

(c) XmoZm| H$WZ ghr h¢ & H$maU, A{^H$WZ H$s ghr ì`m»`m H$aVm h¡ &  

(d) XmoZm| H$WZ ghr h¢, bo{H$Z nañna gå~pÝYV Zht h¢ &  
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10. Choose the correct option of Indian mining towns. 

(a) Ujjain, Haridwar, Varansasi 

(b) Raniganj, Jharia, Singrauli  

(c) Prayagraj (Allahabad) Ambala, Amritsar 

(d) Meerut, Babina, Kanpur 

11. Kakrapara nuclear power project is located in which one of the following 
State ? 

(a) Maharashtra  (b) Gujarat 

(c) Karnataka (d) Tamil Nadu 

12. Consider the following statements and choose the most appropriate 
option : 

Statement I :  International Trade is the exchange of goods and 
services among countries across national boundaries.  

 Statement II : Countries need to trade to obtain commodities they do 
not produce themselves.  

 Options :  

(a) Only Statement I is correct. 

(b) Only Statement II is correct.  

(c) Both the Statement I and II are incorrect. 

(d) Both the Statements are correct and Statement II correctly 
presents the reason for Statement I.  

13. Study the following statements and choose the most appropriate option :  

Assertion : Fertile loamy soil areas have more people living on them.  

Reason :  These soils are the base of intensive agriculture.  

Options :  

(a) Only Assertion is correct.  

(b) Only Reason is correct.  

(c) Both Statements are correct. Reason correctly explains Assertion. 

(d) Both Statements are correct, but not related to each other.  
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14. {ZåZ{b{IV H$WZm| H$m AÜ``Z H$s{OE Am¡a g~go Cn ẁº$ {dH$ën H$m M`Z H$s{OE :

  : H$^r-H$^r ~ñVr ^m¡{VH$ ê$n go EH$ Xÿgao go n¥WH$ AZoH$ BH$mB`m| _| ~±Q> 
OmVr h¡ {H$ÝVw CZ g~H$m Zm_ EH$ ahVm h¡ & 

  : {H$gr {demb Jm±d H$m Eogm IÊS>r^dZ gm_m{OH$ Ed§ _mZdOmVr` 
H$maH$m| Ûmam A{^ào[aV hmoVm h¡ & 

 {dH$ën :    

(a) Ho$db A{^H$WZ ghr h¡ & 

(b) Ho$db H$maU ghr h¡ & 

(c) XmoZm| H$WZ ghr h¢ & H$maU, A{^H$WZ H$s ghr ì`m»`m H$aVm h¡ &  

(d) XmoZm| H$WZ ghr h¢, bo{H$Z nañna gå~pÝYV Zht h¢ & 

15 17 

 _B© 1960 -nydu gr_m 
go gQ>r gm_[aH$ Ñ{ï> go 
{dH$mg H$mo J{V XoZo Ed§ ajm V¡̀ m[a`m| H$mo _µO~yVr àXmZ H$aZo Ho$ CÔoí` go ñWm{nV {H$`m 
J`m Wm & `h EH$ AJ«Ur ~hþ_wIr {Z_m©U A{^H$aU h¡ & BgZo A{V D±$MmB© dmbo nd©Vr` 

4,270 _rQ>a H$s D±$MmB© na pñWV h¡ & 

 -gmW 
~r.Ama.Amo. A{V D±$MmB`m| dmbo joÌm| _| ~µ\©$ hQ>mZo H$s {µOå_oXmar ^r g§^mbVm h¡ & 

  

15. {ZåZ{b{IV _| go H$m¡Z-gm  H$m EH$ _w»` CÔoí` h¡ ? 

(a) gr_mdVu ZJam| H$mo {ZH$Q>dVu _hmZJam| &  

(b) nd©Vr` joÌm| Ho$ e¡{jH$ {dH$mg _| gh`moJ H$aZm & 

(c) g¡Ý` V¡̀ m[a`m| H$mo _µO~yV H$aZm & 

(d) gr_mdVu joÌm| Ho$ {dH$mg Ho$ {bE `moOZm ~ZmZm & 
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14. Study the following statements and choose the most appropriate option :  

Assertion : Sometimes settlement is fragmented into several units 
physically separated from each other bearing a common 
name.  

Reason :  This segmentation of a large village is often motivated by 
social and ethnic factors.  

Options :  

(a) Only Assertion is correct.  

(b) Only Reason is correct.  

(c) Both Statements are correct. Reason correctly explains Assertion. 

(d) Both Statements are correct, but not related to each other.  

Read the given source and answer Q. No. 15 to 17.   

  The Border Road Organisation (BRO) was established in May 1960 for 
accelerating economic development and strengthening defence 
preparedness through rapid and coordinated improvement of strategically 
important roads along the northern and north-eastern boundary of the 
country. It is a premier multifaceted construction agency. It has 
constructed roads in high altitude mountainous terrain joining Chandigarh 
with Manali (Himachal Pradesh) and Leh (Ladakh). This road runs at an 
average altitude of 4,270 metres above the mean sea level.  

  Apart from the construction and maintenance of roads in strategically 
sensitive areas, the BRO also undertakes snow clearance in high altitude 
areas. The international highways are meant to promote the harmonious 
relationship with the neighbouring countries by providing effective links 
with India.  

15. Which one of the following is the main objective of Border Road  
Organisation  ? 

(a) To connect border cities to nearby metropolitan cities. 

(b) To help hilly areas in educational development.  

(c) To strengthen defence preparedness.  

(d) To plan for the development of border areas.  
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16. ^maV _| CÎma-  H$aZm ? ghr {dH$ën 
H$m M`Z H$s{OE : 
I. ŷ AmH¥${V 
II. Obdm ẁ 
III. Adg§aMZm H$m A^md 
IV. YZ H$m A^md 
{dH$ën : 
(a) Ho$db I, II Ed§ III ghr h¢ & 
(b) Ho$db II, III Ed§ IV ghr h¢ &  

(c) Ho$db I, III Ed§ IV ghr h¢ & 
(d) Ho$db I, II Ed§ IV ghr h¢ & 

17. Ho$ A§VJ©V H$m ©̀ H$aVm h¡ ? 
(a) Ho$ÝÐ gaH$ma 
(b) gr_mdVu amÁ` gaH$ma  

(c) ñWmZr` ñd-emgZ 
(d) µJ¡a-gaH$mar g§JR>Z  

IÊS> I 

18 19 

18. : 3 1=3  

  ~hþ_yë` Ob g§gmYZ Ho$ g§ajU Ho$ {bE dfm© Ob g§J«hU à{d{Y H$m Cn`moJ H$aZo H$m 
joÌ ì`mnH$ h¡ & Bgo Ka H$s N>Vm| Am¡a Iwbo ñWmZm| _| dfm© Ob Ûmam g§J«hU {H$`m Om 
gH$Vm h¡ & dfm© Ob g§J«hU Kaoby Cn`moJ Ho$ {bE, ŷ{_JV Ob na g_wXm` H$s {Z ©̂aVm 
H$_ H$aVm h¡ & BgHo$ A{V[aº$ _m±J-Amny{V© A§Va Ho$ {bE goVw ~§YZ Ho$ H$m ©̀ Ho$ A{V[aº$ 

 Ob ñVa _| 
d¥{Õ hmo OmVr h¡ & AmOH$b dfm© Ob g§J«hU {d{Y H$m Xoe Ho$ 
na Cn`moJ {H$`m Om ahm h¡ & dfm© Ob g§J«hU go _w»` ê$n go ZJar` joÌm| H$mo bm^ {_b 

MwH$s h¡ &  

  Cn ẁ©º$ H$maH$m| Ho$ A{V[aº$ {deofH$a VQ>r` joÌm| _| nmZr Ho$ {dbdUrH$aU Am¡a ewîH$ 
Am¡a AY©ewîH$ joÌm| _| Imao nmZr H$s g_ñ`m oÌm| go 
H$_ Ob Ho$ joÌm| _| Ob ñWmZm§V[aV H$aHo$ ^maV _| Ob g_ñ`m H$mo gwbPmZo Ho$ _hÎdnyU© 
Cnm` h¢ &  
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16. Why is it very difficult to construct roads on the north-eastern border of  
India ? Choose the correct option : 
I. Relief features  
II. Climate 
III. Lack of infrastructure  
IV. Lack of money 
Options : 
(a) Only I, II and III are correct.   
(b) Only II, III and IV are correct. 
(c) Only I, III and IV are correct.   
(d) Only I, II and IV are correct. 

17. Under which of the following does Border Road Organisation work ? 
(a) Central Government 
(b) Border States Governments  
(c) Local Self-Governments 
(d) Non-Governmental Organisations  

SECTION B 

Questions number 18 and 19 are Source-based Questions. 

18. Read the given passage carefully and answer the questions that follow : 3 1=3 

  There is a wide scope to use rainwater harvesting technique to 
conserve precious water resource. It can be done by harvesting rainwater 
on rooftops and open spaces. Harvesting rainwater also decreases the 
community dependence on groundwater for domestic use. Besides 
bridging the demand-supply gap, it can also save energy to pump 
groundwater as recharge leads to rise in groundwater table. These days 
rainwater harvesting is being taken up on a massive scale in many states 
in the country. Urban areas can specially benefit from rainwater 
harvesting as water demand has already outstripped supply in most of 
the cities and towns.  

  Apart from the above mentioned factors, the issue of desalinisation of 
water, particularly in coastal areas and brackish water in arid and  
semi-arid areas, transfer of water from water-surplus areas to  
water-deficit areas through interlinking of rivers can be important 
remedies for solving the water problem in India.  
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(18.1) dfm© Ob g§J«hU {H$g àH$ma {H$`m Om gH$Vm h¡ ?  1  

(18.2) ^m¡_ Ob {ZH$mbZo _| dfm© Ob g§J«hU {H$g àH$ma D$Om© H$s ~MV H$a gH$Vm h¡ ? 1 

(18.3)  
H$s{OE &  

2
1

+
2
1

=1 

19. {XE JE _mZ{MÌ H$m AÜ``Z H$s{OE VWm CgHo$ ZrMo {XE àíZm| Ho$ CÎma {b{IE & 3 1=3 

       

(19.1) _mZ{MÌ _| {XE JE aob_mJ© H$m Zm_ {b{IE & 1  

(19.2) A VWm B A§{H$V {H$E JE ñQ>oeZm| Ho$ Zm_ {b{IE & 1 

(19.3) Bg aob_mJ© Ho$ {H$gr EH$ Am{W©H$ _hÎd H$s ì`m»`m H$s{OE &  1 

: 19

(19.1) CÎma A_o[aH$m _hmÛrn Ho$ g~go b§~o aob_mJ© H$m Zm_ {b{IE & 1  

(19.2) Q´>m§g-gmB~o[a`Z aob_mJ© Ho$ {gam| Ho$ ñQ>oeZm| Ho$ Zm_ {b{IE & 1 

(19.3) Q´>m§g-gmB~o[a`Z aob_mJ© Ho$ {H$gr EH$ Am{W©H$ _hÎd H$s ì`m»`m H$s{OE &  1 
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(18.1) How can rainwater harvesting be done ?  1 

(18.2) How can rainwater harvesting help in saving energy in pumping 
groundwater ? 1 

(18.3) Explain any one positive outcome of interlinking of rivers in 
India.  

2
1

+
2
1

=1 

19. Study the given map and answer the following questions.   3 1=3 

        
(19.1) Name the Railway line given in the map. 1 

(19.2) Name the stations marked as A and B. 1 

(19.3) Explain any one economic significance of this railway line.   1 

Note :  The following questions are for the Visually Impaired Candidates 
only in lieu of Q. No. 19.  

(19.1) Name the largest railway line of North American continent. 1 

(19.2) Name the terminal stations of Trans-Siberian Railway. 1 

(19.3) Explain any one economic significance of the Trans-Siberian  
Railway.   1 
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IÊS> J

20 23  

20. (H$) 1901 1921 H$s Ad{Y H$mo ^maV H$s OZg§»`m H$s d¥{Õ H$s éÕ àmdñWm H$hm 
OmVm h¡ &  H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OE & 3  

 AWdm  

(I) 1921 1951 Ho$ XeH$m| H$mo ^maV H$s OZg§»`m H$s pñWa d¥{Õ H$s Ad{Y Ho$ ê$n 
_| OmZm OmVm h¡ &  H$WZ H$s CXmhaUm| g{hV nw{ï> H$s{OE &  3 

21. ñdm{_Ëd Ho$ AmYma na {díd _| CÚmoJm| Ho$ dJuH$aU H$s naI H$s{OE &  3 

22. (H$) _mZd {dH$mg Ho$ ñVå^ Ho$ ê$n _| g_Vm  g§H$ënZm H$s ì`m»`m H$s{OE &      3  

 AWdm 
(I) Hw$N> Xoem| _| _mZd {dH$mg H$m _Ü`_  ? ì`m»`m H$s{OE & 3 

23. ^maV _| ZJar` ~pñV`m| H$s {H$Ýht VrZ {deofVmAm| H$s ì`m»`m H$s{OE & 3 

IÊS> K 
24 28  

24. n[adhZ  H$mo n[a^m{fV H$s{OE & AmYw{ZH$ g_` _| n[adhZ Ho$ _hÎd H$m dU©Z  
H$s{OE & 1+4=5 

25. Z_m{_ J§Jo H$m ©̀H«$_  Ho$ {H$Ýht nm±M CÔoí`m| H$m {díbofU H$s{OE & 5 

26. (H$) AmYw{ZH$ g_` _| ^moOZ g§J«h H$m ©̀ H$m ì`mnmarH$aU hmo J`m h¡ &  Bg H$WZ H$s 
naI H$s{OE &  5 

 AWdm 
(I) Mbdmgr newMmaU EH$ àmMrZ OrdZ-{Zdm©h ì`dgm` ahm h¡ &  Bg H$WZ H$s 

naI H$s{OE &  5 

27. AÜ``Z Ho$ joÌ Ho$ ê$n _| ŷJmob H¡$go g_mH$bZmË_H$, AmZŵ m{dH$ Ed§ ì`mdhm[aH$ h¡ ? 
ñnï> H$s{OE & 5 

28. (H$) A{Z`{_V _mZgyZ na {Z ©̂aVm  H$m ^maVr` H¥${f H$s g_ñ`m Ho$ ê$n _| {díbofU 
H$s{OE & 5 

 AWdm 
(I) ^maVr` H¥${f H$s g_ñ`m Ho$ ê$n _| ì`mnH$ Aën-~oamoµOJmar  H$m g_mbmoMZmË_H$ 

{díbofU H$s{OE &  5 
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SECTION C 

Questions number 20 to 23 are Short Answer Type Questions. 

20. (a) 1921 is referred to as a period of stagnant 

examples.       3 

   OR 
 (b) 1951 are referred to as the period of steady 

 3 

21. Examine the classification of industries based on ownership in the world.  3 

22. (a)  3 

   OR  

 (b) Why do some countries have medium level of human development ? 
Explain.      3 

22. Explain any three features of Urban Settlements in India.  3 

SECTION D 
Questions number 24 to 28 are Long Answer Type Questions. 

24. e of transport in the 
modern times. 1+4=5 

25.  5 

26. (a) 
statement.      5 

   OR 
 (b) 

statement.      5 

27. Explain how geography, as a field of study, is integrative, empirical and 
practical. 5 

28. (a) 
Indian Agriculture.    5 

   OR 

 (b) Critically analyse the 
Indian Agriculture.     5 
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IÊS> L> 

29 30 

29. g§gma Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 21 na), _| gmV ^m¡Jmo{bH$ bjUm|   
H$mo A, B, C, D, E, F VWm G Ho$ ê$n _| {XIm`m J`m h¡ & {H$Ýht   H$s nhMmZ 
{ZåZ{b{IV OmZH$mar H$s ghm`Vm go H$s{OE Am¡a CZHo$ ghr Zm_ CZHo$ nmg ItMr JB© 
aoImAm| na {b{IE :  5 1=5 

A. Mbdmgr newMmaU H$m EH$ à_wI joÌ  

B. EH$ à_wI g_wÐr-nÎmZ  

C. EH$ à_wI hdmB©-nÎmZ 

D. Q>́m§g-gmB~o[a`Z aob_mJ© H$m nydu {gao H$m Q>{_©Zb ñQ>oeZ 

E.  

F. EH$ Zm¡ n[adhZ Zha  

G. EH$ dm{UÁ` newYZ nmbZ H$m joÌ  

: 29

: 5×1=5

(29.1) A\«$sH$m _hmÛrn Ho$ X{jU Ho$ {H$gr EH$ Mbdmgr newMmaU joÌ H$m Zm_ {b{IE & 

(29.2) X{jU A_o[aH$m Ho$ npíM_r VQ> na pñWV {H$gr EH$ à_wI g_wÐr-nÎmZ H$m Zm_ 

{b{IE & 

(29.3) J«oQ> {~«Q>oZ Ho$ {H$gr EH$ à_wI hdmB©-nÎmZ H$m Zm_ {b{IE & 

(29.4) Q>́m§g-gmB~o[a`Z aob_mJ© Ho$ g~go npíM_r {gao Ho$ Q>{_©Zb ñQ>oeZ H$m Zm_ {b{IE & 

(29.5) CÎma  

(29.6)  

(29.7) X{jU A_o[aH$m _hmÛrn Ho$ {H$gr EH$ dm{UÁ` newYZ nmbZ joÌ H$m Zm_ 

{b{IE & 
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SECTION E 
Questions number 29 and 30 are Map-based Questions. 

29. On the given political outline map of the World (on page 21), seven 

geographical features have been marked as A, B, C, D, E, F and G. 

Identify any five with the help of the following information and write 

their correct names on the lines drawn near them :   5 1=5 

A. A major area of nomadic herding   

B. A major sea-port  

C. A major airport  

D. Terminal station of eastern end of Trans-Siberian Railway 

E. The largest country of Europe 

F. A shipping canal 

G. An area of commercial livestock rearing  

Note :  The following questions are for Visually Impaired Candidates only 

in lieu of Q. No. 29.  

 Answer any five questions out of the following :  5 1=5 

(29.1) Name any one area of nomadic herding of south of African 
continent.  

(29.2) Name any one major sea-port located on western coast of South 
America.  

(29.3) Name any one major airport of Great Britain.  

(29.4) Name the western-most terminal station of Trans-Siberian 
Railway.  

(29.5) Name the largest country of North American continent. 

(29.6) Name the canal linking the Atlantic and Pacific Oceans.  

(29.7) Name any one area of commercial livestock rearing of the South 
American continent.   
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30. ^maV Ho$ {XE JE amOZr{VH$ aoIm-_mZ{MÌ (n¥ð> 23 na), _| {ZåZ{b{IV gmV ^m¡Jmo{bH$ 

bjUm| _| go {H$Ýht   Ûmam A§{H$V H$s{OE Am¡a CZHo$ Zm_ {b{IE : 5 1=5 

(30.1) g~go A{YH$ OZg§»`m KZËd dmbm amÁ`  

(30.2) H$Zm©Q>H$ _| pñWV 10 {_{b`Z go A{YH$ OZg§»`m dmbm ZJa 

(30.3) JÞo H$m AJ«Ur CËnmXH$ amÁ`  

(30.4) hµOmar~mJ  Vm±~o H$s ImZ|  

(30.5) Zodobr  H$mo`bo H$s ImZ|  

(30.6)  _| pñWV g_wÐr-nÎmZ 

(30.7) Ag_ _| pñWV A§Vam©ḯ>r` hdmB©-nÎmZ  

: 30

:  5 1=5

(30.1) g~go A{YH$ OZg§»`m KZËd dmbo amÁ` H$m Zm_ {b{IE & 

(30.2) H$Zm©Q>H$ _| pñWV _oJm ZJa H$m Zm_ {b{IE & 

(30.3) JÞo Ho$ AJ«Ur CËnmXH$ amÁ` H$m Zm_ {b{IE & 

(30.4) hµOmar~mJ Vm±~o H$s ImZ| {H$g amÁ` _| h¢ ? 

(30.5) Zodobr H$mo`bo H$s ImZ| {H$g amÁ` _| h¢ ?  

(30.6)  _| pñWV à_wI g_wÐr-nÎmZ H$m Zm_ {b{IE & 

(30.7) Ag_ _| A§Vam©ï´>r` hdmB©-nÎmZ H$hm± pñWV h¡ ? 
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30. On the given political outline map of India (on page 23), locate and label 

any five of the following seven geographical features with appropriate 

symbols :  5 1=5 

(30.1) The state with the highest level of population on density 

(30.2) A city of more than 10 million population located in Karnataka  

(30.3) The leading sugarcane producing state 

(30.4) Hazaribagh  Copper mines  

(30.5) Neyveli  Coal mines  

(30.6) Sea-port located in Odisha  

(30.7) International airport located in Assam 

Note :  The following questions are for Visually Impaired Candidates only 

in lieu of Q. No. 30.  

 Answer any five questions out of the following :  5 1=5

(30.1) Name the state with the highest level of population density.  

(30.2)  Name the mega city located in Karnataka.  

(30.3) Name the leading sugarcane producer state.  

(30.4) In which state are Hazaribagh copper mines located ? 

(30.5) In which state are Neyveli coal mines located ? 

(30.6) Name the major sea-port located in Odisha.  

(30.7) Where is the international airport located in Assam ? 
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àíZ g§. 29 Ho$ {bE For question no. 29 

   



64/C/1 22  

 

 



64/C/1 23 P.T.O. 

àíZ g§. 30 Ho$ {bE   For question no. 30 

 

^maV H$m aoIm-_mZ{MÌ (amOZr{VH$) 
Outline Map of India (Political) 

 


